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Instruction (A) : Question No. 1 is an objective type
“Question. It has three Parts - Part (A), Part (B) and Part
(C). Part (A) has multiple choice type questions. Part (B)
has fill in the blanks and Part (C) has match the following.

Each Part has 5 questions and each question carries 1
mark. |
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ag-1  (@Us - ) e forske e farfa; [1x5=5]
(Part — A) Choosc and write the correct option:
() USHTEH T R?
| (37) ot (@ eI
@) YT @ deuerd
What is endosulfan?
(a) Oil (b) Pesticidés

(f::) Drinking water  (d) Iron Ore

(i) O ST s e fgh e o &
&N & (@)
@ dicit (@ et

Which of the following is not a class of soil on the
basis of color? - '

(a) Green : (b) Red
‘(c) Yellow (d) Black

(iii) mﬁaﬁaﬁtmﬁ@?ﬁﬁﬁwm%
@) Fad@iHd (@) Faawhd
@) FaATEGH @ it e

In India, paddy can be mostly cultivated-
(a) Only inKharif (b) Only in Rabi
(c) Only in Zaid (d) Inall Seasons
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(iv) T YT 3 At Sfa AT Y ATl  ed 8-

(37) T @) Hdiua.

@ dide. (@) AT,

People living below the poverty line are called-
(a) APL (b) BPL

(c) CPL (d) RPL

(v) g e e s e g

(37 @ i (@) aﬁﬁwsﬂtw
@) s HT (@) T TE FHA

Cold War took place between which two countries?

(a) China and America
(b) America and Russia

" (¢) Russia and China

(d) Russia and Germany

Al (@S- o) R e ORI [1x5=5]
(Part - B) Fill in the blanks:
() FFmEaEward_ R
The signal for measuring growthrateis
Giy _ resomd snfiis i v @ ved e
The announcement of ____ brought relief to the
people in the economic recession.
(iii) o Fr@aitp ITAT___ mﬁ%ﬂfﬂlﬂriﬁ
Copper is used maximumin ____
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(iv) T 3 aeh e arar ane B 3 /s o, raa
4| q1
The first film in India was made by Dadasaheb
Phalke. The name of the film is .

(v) Tasfuefscimeieo  dord

BT &
Registration of political parties for elections is
done in organization,
TA-1 (@2 - §) @y iR [1x5=5]
(%) | @

(i) g o w1 arem () Sw it
(i) ¥ fare fordtes vl wet @) v R sy

(iii) FFraw (&) &
(iv) e faa @ o da# Rwm
(v) vt ST IV ® vonEhe |
(Part — C) Match the following:

(A) (B)

(i) Medium of exchange (a) In Lok Sabha
(1) Firstfinance billin  (b) Upto 5 years of age

India .
(iii) Uranium (c) Currency
(iv) Mental development (d) Development of

Information technology
(v) Effect of Globalization (e} Atomic mineral -

-241300-A .
e LT et

https://www.cgboardonline.com




()

a4

qHH S5

-6

3w (@) : WA i 2/ 6 7 A Y 39 T & IS
9T W 2 3T AEfed € (ST it Aftrerad weg-dAT 30
TR ) |

Instruction (B) : Question No. 2 to 6 are very short answer

type questions. Each question carries 2 marks. (Maximum
word-limit of answer is 30 words)

3R T T R?

What is ‘waste material’?

H¥ 3 SIrae wEAl & AW Ry

Write the names of any two Zaid crops.

2 uifeas @it & am fofag

Write the names of two metallic minerals.

TR & 0 AR A FE & nltel w0 FE dd@ie
BpREb

What are the functions of the government that are
directly related to reducing poverty?

TR Rl FT 7

What is buffer stock?

12]

[1+1=2]

[14+1=2]

[141=2

2]
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Instruction (C) : Question No. 7 to 10 are very short .

answer type questions. Each question carries 3 marks.
(Maximum word-limit of answer is 50 words)
mwmmmﬁwwﬁmﬁg@ 2+
o ST ST &, < W 3 o s sy vt Ao

What is population? If there are more youth in the

population of a country, then what will be the economic
system of the country?

SRAVEE Yy I e ety e L [2+1=3)
What is colonialism? Whose colony was India?

T & R T e g S R ) (1t

Write about the terrible damage caused by an atomic ;'3]
bomb. (any three) -

TEOR iyt oy 4 Fomdt

How do multinationaj Companies make profits?

3]
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Instruction (D) : Question No. 11 to 14 are short answer
type questions. Each question has intemal option. Each

question carries 4 marks. (Maximum word-limit of
answer is 75 words)

ayA-11  BiHEE & 9R e fafag [1+1+1+
| | 1=4]
Write four charactenistics of fascism?
HYAQT
- OR
fadia favagwe ¥ SR aRvl & @ R

Mention four reasons for World War I1.

W12 VT SATHTRE HRF TS | F1-31 U 0 T2 [1+1+1+

What were the positive effects of the formation of 1=4]
language based states?
FHEat

| OR
I fog e farer it 7t 21 at s o sifgersdt
Ry == v A

If Hindu Code Bill (Law) would have not passed, what
effect would have been on women of India?
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” qy3-13 mmaﬁﬁawzolawmmmﬁm [1+11+:]-

Throw light on land acquisition act 2013. (any fou:)
HYAT
OR
TR TG T ST GG 3 T 3 €7
@ =W

What is the difference between renewable resources and
non-renewable resources? (any four)

TEA-14 T Ee oY T & fed 9 Rrerial <t ferfew [1+1+1+

: ' 1=4
Write any four principles for the establishment of the !

League of Nations.

AYQT
OR
«1914 §, & TN U IR Y favages FgT i1 ¥1” §9 HoT
Ay FHn @iy

The war that started in 1914 AD is called World War.
Confirm this statement. (any four points)
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St Wee-HT 100 W12 ) |
Instruction (E) : Question No. 15 and 16 are long answer
type questions. Each question has internal option. Each

question carries 5 marks. (Maximum word-limit of
answer is 100 words) '

TE-15 i STier it wpe fadiand fafag @i o) [14141+

Write the main features of social movement. (any five) 1+1=5)
HEQT

OR
- oefier i sawsar R

Why was disarmament needed?

16 e ey Reore ek anferfiass dt o friw @, A 14141+
T ST G I I TS

If the Reserve Bank of India does not control
commercial banks what will be the impact on the
currency and credit system?

HYQT

OR
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o o a2 0T o Fre v S 591 3¢, T, ST,

firt anfe £t Sravaaar 41 8t &7

What is loan? Why some conditions like interest rate,

time, guarantor, mortgage etc. are essential for loan?

F391 (F) - T HHIE 170 18 A Iai 927 8 Fedoh 5
F Sriafa Riee ) TR I T 6 3 AT 8 (FHHA
FiftrTay eg-HMT 150 WIS ®)

Instruction (F) : Question No. 17 and 18 are long answer
type questions. Each question has internal option. Each
question carries 6 marks. (Maximum word-limit of
answer is 150 words)

A¥A-17 . FAGAR AT & @™ 9 g1 feriag : [3+3=6]
Write the advantages and disadvantages of mass media.
HYATl

OR

g wmears R, 3 ESEOr F 79 7 FAAA N AR

What similarities and differences do you see between
print media and T.V. communication?

-241300-A
K LT T et

https://www.cgboardonline.com



(11)

SE-18 Tt S 3 Tareft o o 57 § oy v ) 96 [1+1+1
T T 6 SR AT T = gue e fRr ade +1+1+1
gFfraa e mar =6
In Indian democracy the Prime Minister work like an

axis. He should not be autocratic and become dictator,
for this which methods are precised?

HAQT

| OR
T & regafer it el et < e 3 Fer g
(FIE 27

Briefly discuss the powers and functions of the President
of India. (any six)

bk 4 £ 31 2 T F R
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